H & 0l & AHS B Ml A

SA =Y
Hu: 2 )8 XF - X9
el ZHIIE - AR (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JIEA 7,512,452 7,330,195 182,257
= 116,668
= 7,395,784
=d J1g - xF - X 160,906 247,126 N\86,220
THIIE - AIEDRY 160,906 247,126 A\86,220
o3 XA 54,000 54,000 0
WM HsFEE=S 54,000 54,000 0
03 &R = 54,000 54,000 0
oAd=Ea= 1,500,000& x1H 24 36,000
o= a= 1,500,000 x1&* 122 18,000
THIIE - AR F& 89,906 167,926 AT78,020
201 fer23| 48,906 76,926 A28,020
01 AtR2t2|HI 48,906 75,326 N26,420
o=d PPT MI& 5,000,000& 22 10,000
oZdENN & 7! 10,0002 %1,000% 10,000
ozZda e I 1,000,000 #2042 2,000
oFQLUPAIBARA FO
35,0003 x50 +53] 8,750
cURENAN Rel(Z,23)
35,0003 x40 +33] 4,200
oczd =2 =¢
70,0003 x25 & *22] 3,500
cHHALSHANYRARAZ =&
70,0003 11243 3,080
ocHUNZE < 100,000& *202 2,000
o AR =N SEH
8,0002 x4 168! 5,376
202 04l 6,000 6,000
01 SLHoIH 6,000 6,000
ocTHARHR =X
20,0003 x4 »50 4,000
SPHI|EYS XX
20,0003 x4 25 2,000
203 =4l 10,000 10,000
03 A=A 2= 10,000 10,000
oRIFQAM Y JIEXNXHEE FE S
2,500,000& x4=2 7| 10,000
303 Za= 25,000 25,000
01 Za= 25,000 25,000
oZd AT Sy JI020F 24
7,000,000 *14] 7,000
ocdith Il R+2A Ly
15,000,000 * 14 15,000
oRsAH L= HY 3,000,000& *14] 3,000
Mt e 29 17,000 25,200 28,200
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SA: DR
Hu: 2 )8 XF - X9
chel: 2EJIE - AR (cie) 29
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
301 LPBNZ 3,000 4,600 21,600
14 JIEt2 43 3,000 4,600 21,600
o= 0IHIeH =Xt Al&t
1,500,000 & *23| 3,000
303 Zal= 14,000 20,600 26,600
01 L& 14,000 20,600 6,600
oZRRNC LIt Al&
7,000,000& x23| 14,000
ME29 636,630 525,128 111,502
SEHO M2 636,630 525,128 111,502
ollar2d 2te| 170,190 176,848 6,658
201 Ler2 | 67,516 55,516 12,000
01 At 2telt] 49,720 49,080 640
oS Z0AN S Ol At X}
30,0002 x6&*170= 30,600
SHAYD ET AREE DY
30,0002 x65+62 1,080
STUEHE A2 E| BAaL
70,0003 x12Hx13] 840
SXYME A (SR, BALXNLEES S)
HESE 70,0003 * 128 %63 5,040
SIEOIEOII A0l Bl A A AT
70,0003 x21H 23] 2,940
oBANSIAT EHASY
70,0002 x5 H*33] 1,050
oENEAHT 2 HEAYH
70,0003 7B 13| 490
o=Z0la Y FAMA BHY =X g
8,000 x4H+30 43 3,840
oHAHE =& SEHI
8,000 *4F*x302 43 3,840
02 3244l 17,79 6,436 11,360
oME 224& SHOIX SIHAIAE =X
2 132,000& 12& 1,584
oUEH (AMEEXJAANAE SAE4
4,245,000 4,245
oUEY HAMIBXAAAE XtAHes =
HAHZ2E e 11,967,000 11,967
202 04d| 1,920 1,920
01 =LHO4 b 1,920 1,920
offlAEHE Y SIOIMEAHE 8
20,0003 x4H* 123 960
SNYMEESA U SRAAN H2EX
20,000 x4+ 123] 960
308 AHXIHM SO & 50,597 21,758 28,839
11 BI2SOHEHE AR LE AL 50,597 21,758 28,839
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SA: IR
M HE=24
el 2R HAM2E (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oXILTHE2ACIAIAE FXl2tel
14,934,000 * 18] 14,934
STHTIXI LB ZRIA AL SXIZ2
35,663,000 *13] 35,663
403 AXIEHHS X201 50,157 97,654 ANA4T 497
02 SO 2S0It et =& 2 €A | 50,157 97,654 AN4T 497
oXAIH XIZLHE2AAE 2= EES
50,157,000 *13] 50,157
=0 2 32 2 82,080 82,080
202 04l 2,080 2,080
01 =LHA LI 2,080 2,080
oS3 AE X 2SUFAH dF2e
20,0003 x2& 25 1,000
oSBUFA AFE = Fu
20,0002 *38 18 1,080
203 HR=H] 10,000 10,000
03 A=A =] 10,000 10,000
oHAEE XSSt =2 S
1,250,000 x4 71 5,000
o FREC FX(SS)
1,250,000 x4 01 5,000
207 ARl 70,000 70,000
01 H7ESHI 70,000 70,000
oZ2FAAHAEAH(SS)
70,000,000 70,000
NSAIRA 2 51,560 0 51,560
201 er23| 21,800 0 21,800
01 At2teltl 20,000 0 20,000
SHNISARE itz 300,000 x 12 3,600
o2 RXt=A gXE 700,000 * 122 8,400
oNFES 72l 1,000,000 1,000
oEEEE 7Y 20,0002 x2507HK 5,000
od~EH| 2,000,000& 2,000
02 S3=gl 1,800 0 1,800
ORAZILSAEE 150,000& * 122 1,800
202 04| 11,760 0 11,760
01 2LHA b 11,760 0 11,760
o LHO I 20,0003 x4 x 122 960
SEEsCL 60,0002 x152 «12& 10,800
203 HR=H] 10,000 0 10,000
03 A=A PR 10,000 0 10,000
SHEANSA 92 X8 S
2,500,000 *4=7| 10,000
405 AtatsE = 2,000 0 2,000
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FA =Y
Zu: Y2
ol 2EH a2 g (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 AL =S F=HI 2,000 0 2,000
oTRE H AREII 2,000,000& 2,000
406 JIEFAHZ0l1H 6,000 6,000
01 JIetA=01d 6,000 6,000
o=A BE3 6,000,000 6,000
MAE (A2 (SS) 271,200 214,200 57,000
201 et 3| 24,000 20,000 4,000
01 AtR2te|Hl 24,000 20,000 4,000
oFQINAI =
1,000,000 x242 A 24,000
202 04l 168,000 164,200 3,800
01 2LHoIH 168,000 164,200 3,800
oAAEY HRFU
70,0003 x240 10 168,000
405 AtatsE = 79,200 30,000 49,200
01 ML ESFSHI 79,200 30,000 49,200
o4& HIS & ¥l 7Y
3,300,000 24 A 79,200
sHsS N 61,600 52,000 9,600
201 el 22,000 22,000 0
01 At22t2lt] 22,000 22,000 0
ogH S ARl
2,000,000+ 11HEH 22,000
405 KHoHF S| 39,600 30,000 9,600
01 ML ESFSHI 39,600 30,000 9,600
o5H ==&H| WA
3,600,000 «110HSH 39,600
AL 2E 132,146 169,483 A37,337
TANES 132,146 169,483 A37,337
TAER =8 132,146 169,483 A37,337
201 er2 3| 86,904 136,714 /48,810
01 AtR2telHl 86,904 135,714 /48,810
oHAIE R AIRESHI
50,0008 x35+102 1,500
BN HMUSE 2BEL HZ 242
2,000 *30H 87| 2 480
SHLMA S BT P
100,000& x4 5+23] 800
o2t U MM HE $42
400,000 15 400
TN BN BAnY
70,0002 x5 #23] 700
cHEUT A=< 1,000,000& 22 2,000
oHEAIU u=F 300,000 %32 9,600
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SA =Y
M 2N 29
el 2ZAES (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cnENRDE ALY
1,000,000& %12 1,000
SHAMAM JIIEE SR =8
50,000,000& »14! 50,000
o&g ItstsAAE 28 =2
5,000,000 =14 5,000
oXtHl LR F8& ot 89 =3
8,000,000& *14] 8,000
oZAIHR F& SEH|
8,000 x4 »232! 7,424
202 04| 4,800 4,800
01 =LHOLI 4,800 4,800
SXHMZAR & HSAA 2
20,0003 »2& »60 2,400
oS T K SHZE
20,0002 x2& 60 2,400
203 =2l 3,000 3,000
03 A=A PR FZ| 3,000 3,000
CTANES YR =M S
750,000 *4=2 7| 3,000
301 LELE NS 18,200 18,200
14 JIEt2d=3 18,200 18,200
oZdl dE= 18,000,000 * 14| 18,000
o3& 82 tHEHIE(+=+8)
200,000 %14 200
303 Zal= 10,000 10,000
01 2= 10,000 10,000
CHHBES P+RA XY
10,000,000 * 14! 10,000
308 XtXIEMSO0IE 9,242 7,769 1,473
11 SIS0t oA A A 9,242 7,769 1,473
o AAE FAES & 22/l
9,242,000 14! 9,242
HHELES 789,960 670,360 119,600
Y=L 35 25 789,960 670,360 119,600
zd8= 561,440 485,840 75,600
201 2= 523,440 454,840 68,600
01 At2t2lt] 448,200 389,200 59,000
oplE A= 20,0002 130+ 12& 31,200
oWk A= 15,0002 x105+3%+ 12 5,400
oZdIEEE AKX
200,000 x4 =45 D1 3,200
oXH(AE, X S) E1
1,800,000& %1102 198,000
=QIHY i &1 1,600,000 %1253 200,000
SJIEH ARES 30,0003 x155+12& 5,400
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SA: s
By sEsoEs
tel: HEEE 25 25 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
cZCON S BALY
100,0002x102*13] 1,000
oRHETS 27 S|
8,000 x4 125 4,000
02 S3=2g4l 75,240 65,640 9,600
olgwA ME 082
3,800,000& «12& 45,600
oEAIY MHIA AIBE(MEHE EE)
2,400,000 12& 28,800
oZE0UAI 0IEE 70,0002 122 840
202 04| 6,000 6,000
01 =LHOLI 6,000 6,000
o2 . 5.2 AMER
20,0003 x4 »752 6,000
203 HR=H] 25,000 25,000
03 A=A PR 25,000 25,000
oFRZHANM 28 S
6,250,000 *4= 7| 25,000
301 EetE2 N = 7,000 7,000
14 0Bt 2a3 7,000 7,000
oAOIE SdHl Alats
7,000,000 *14 7,000
AR S SARE 2l 228,520 184,520 44,000
201 el 213,520 184,520 29,000
01 At2t2ltl 211,520 182,520 29,000
ozZdER LEE= 08 MH
40,000,000&*35 120,000
oTFEE FN(VBHA) MAE 2 S=
11,000,000& +85 88,000
oJtict AEX 7
2,000 *301* 122 720
oz JIS &Y M
300,000& *4=2 7| 1,200
SJISEENE NEMA 2
200,000 8 H 1,600
02 s3=gHl 2,000 2,000 0
oJthet «=clbl 1,000,000 #22] 2,000
405 AHAHE S 15,000 15,000
01 AL =S F = 15,000 15,000
oMM 2 SHEE JHl T
15,000,000 * 14 15,000
OICIoi A= 2ke] 466,060 544,506 INT8,446
oIcioigs 466,060 544,506 AT8,446
o AAR g2t 91,560 192,506 A100,946
201 Ler23 | 91,560 192,506 100,946
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SA: R
Z3: OiCoRERe)
el DICIEs (CH9: &S1)
RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
01 AtR2telbl 73,080 163,610 /90,530
oz d AAX M 15,000, 000& %43 60,000
o2F AMX S1X ¥12
50,0003 *30 & *42] 6,000
oRH LK LSS ST S
1202 6,000 *42] 2,880
B AMK HESIAS HALY
100, 0003 »7 & *43] 2,800
oRF AMX BY JIEEIIILS HHL
g 200,000& »7 Z 12 1,400
® 2=2H| 18,480 28,8% £10,416
oRF LMK Us SHE
7703 6,000 43! 18,480
NS 22 2435t 134,700 173,600 A38,900
201 LBt 81,200 81,200 0
01 AtR2telbl 70,000 70,000 0
o227 U NS 2 48,000
=27 2% I 22
2,000,000 122 24,000
NS 2& A 2el 2,000,000& « 122 24,000
oRFE o M 2,000,000& 62l 12,000
oA ¥ A OIHIE 2
1,000,000 «2J1+53] 10,000
03 A2 11,200 11,200 0
oS MEEZ 2FA & Ads Nz
10,000,000& *13] 10,000
oINS MEHZE 2tE3| iz
600,000& *22] 1,200
301 LENZ 53,500 53,500
11 EAIAHIXIRAS 1,500 1,500
oSNNS MEEZX 4 2|
30,0002 *50H 1,500
14 JIEtE2aS 52,000 52,000 0
oINS MEHZE 22 F1E K= 40,000
-0z X3 60,0003 *50H « 128 36,000
LN E= I A==,
100,000& x10F ~43] 4,000
oS E2 O|¢HE &4F 7
1,000,000& 122 12,000
OICIH = 2el 239,800 178,400 61,400
201 Zet2& ] 239,800 178,400 61,400
01 AtR2telbl 228,800 167,400 61,400
olM&E Z1) S
4,000,000& *3H 2+ 102 120,000
om0ILI &1 &= 6,000,000 4] 24,000
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SA: R
Z3: OiCoRERe)
el DICIEs (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
csES FUIY NN
4,000,000& 52 20,000
oz UH =284 M
60,000,000 »14! 60,000
oJ&EH| HiEel + 250,000 «6H 1,500
o000 X2 MEOHM 2
200,000 *2H 400
<00 X 2e| T2 HAASEE
1,500,0002 %14 1,500
o8 J|SIIN BaLT
200,000 7 H =13 1,400
2 35244l 11,000 11,000 0
=0ILI0 SE22AAE FA2=H
8,000,000& *14] 8,000
oA FH| #=2ldl 1,000,000 *23] 2,000
CHHE CE oETE Il
1,000,000 *14] 1,000
THIOHSEESR =& 125,836 125,236 600
HHONE R 29 5,460 5,460 0
RIS =d 5,460 5,460 0
201 er2 3| 4,260 4,260 0
01 AtR2t2|HI 4,260 4,260 0
ONFES 72 5,000& 10563l 300
oAE EEE MA 5,000 *100K 500
ortHisE?Ee E4+E
70,0008 7 H 23] 980
oSNNS NS A=Y
400,000 *12] 400
o NSRS SEH
8,000 *x2& »130! 2,080
202 04| 1,200 1,200
01 2LHoIH 1,200 1,200
ortHiE eF 258N
20,0003 x2& »30! 1,200
ge ge = 120,376 119,776 600
e e = 120,376 119,776 600
201 er23| 85,276 84,676 600
01 AtR2t2|HI 84,276 83,676 600
oASHIE FHR 1,500,0002 %52 7,500
oASsd HSA HUZ
4,000,000 =102 40,000
oHSA B 3,500,000 x624 21,000
oYLl A5EER, 2N S
1,000,000 *724 7,000
cIRHSA It =%
200,000 x3H * 122 7,200
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Sh: R
Hu: AHNEES XX
ol HE g% A (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oHS 9 A4S FA e
8,000& x1&122& 976
oA AH 018 =8
600,000& %12 600
02 S3=2g4l 1,000 1,000 0
oAs DEYE PEHE
500,000 *x221%13] 1,000
202 04l 1,200 1,200
01 K01t 1,200 1,200
oHe U A5YS =X
20,0002 x2&*30 1,200
303 Zal= 400 400
01 2= 400 400
oAELH S BY
100,000& 4 & x13] 400
305 Hia =S 20,500 20,500
01 that=S 20,500 20,500
oiz FNO AUl Ha
50,0002 102 +13] 500
ogstolf - - XF 2F S &ofitia=s
5,000,000& 42| 20,000
307 @I2t01 & 13,000 13,000
02 LB MANHEE 13,000 13,000
o(AhE=XGHEITIHIXZLEH K&
10,000,000 10,000
oE2S2EA wIHAY X
3,000,000& 3,000
SAH Z=A 90,642 91,366 NT24
< 16,668
s 73,974
SH2c 90,642 91,366 NT24
= 16,668
= 73,974
SH A =8 29,259 33,082 A3,823
101 @124H| 9,163 8,723 440
MU IIRINZZENSES 9,163 8,723 440
S AFEHIZAL S2tel AL 12|
79,8402 x 1 %28 x70% 1,565
S ASMEAL ZARZCIAE Q12|
79,8402 x2H x282 %7 (fh 3,130
S AFEHMIZEAE ZRALKI R 22l AF Q124
76,9603 *1H 282 +7(f% 1,509
SAFEHIZAL IERE 12|
76,9602 x2& 192 x70% 2,048
S AHMEAL EEZ 911,000& an
201 Ler23 | 19,296 23,559 A4,263
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SA D=
M ZH A
&2l SH2L (CH9: &S1)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
01 AtR2telt] 19,29 23,559 A4,263
OAIAMEAMN ESEAR =
76,960 * 115262 x7(% 15,408
oS HXZA F& 3,280
-E22 ME 50,000 *11JH A*13] 550
~U2HEH(BIY) 40,000 *12JH 2o+ 13| 430
—ZAHE 100&*10,0000H 1,000
-AANES 5,000&x65+50Z 1,250
oSHZIZAN Al & HAUSE Z |
8,000 x2% 38 608
202 44| 800 800
01 =WOdbI 800 800
OAE EHEA PEW
20,0003 «2Y 20 800
Hetd e - 28T MITAIER =2 50,997 47,898 3,09
& 16,668
o 34,329
101 @124t 28,369 27,270 1,09
T 14,184
= 14,185
MU IIRHNZ2EXsEs 28,369 27,270 1,09
S AFSI AL A2 A 3,960
- ARZ2IAF elAd]
80,000 x3H * 15 3,600
& 1,800
= 1,800
A0 E8& 360,000& 360
T 180
= 180
S AFSIZAN ZAFA Q124H]
77,0003 *23H 12 21,252
& 10,626
= 10,626
S AR A LER R 2124H|
77,0003 *5 3 8 3,080
T 1,540
= 1,540
o AFSI AL OIHIZRAFR Q124H]
77,0003 *1H 77
= 38
= 39
201 B2 AY| 12,628 12,628 0
T 2,484
[ 10,144




SA: IR
33 SH XA
el SH2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 At2t2ltl 12,628 12,628 0
oAREE 7Y 500, 0002 500
SNEMN UL FALE 014
2,500& 1,0000H 2,500
SALR] ZAF B1OA &2 4,000,000 4,000
S AR EAL =5 55,0003 * 1294 2 660
S AR AL EellE
6,000&+8287t+ 4,968
= 2,484
Ea 2,484
207 ARl 10,000 8,000 2,000
01 S| 10,000 8,000 2,000
oXAEA Y EY 10,000,000& * 14! 10,000
SHSEE2t 10,386 10,386 0
201 el 10,386 10,386
01 At2telt] 10,000 10,000
oSHALE &2t 50,0002 2005 10,000
2 s5=34l 386 386 0
oSHAE S &7 1,930 *200% 386
Y 2HAHI(D124Y) 90,272 159,490 A\69,218
el 2| 58,914 103,401 N4 487
el 24| 58,914 62,488 A3,574
101 @124H| 58,914 62,488 A3,574
01 &= 53,291 59,141 A\5,850
oAe2eg
11,1302 ¥ 192 +21 A1 2+ 123 53,291
02 JIEtAE = 5,623 3,347 2,276
S ARIRIZR+E(IIN 624 )
12,3211 *21A1 2t 123 3,105
S AZAZ 2 (&IIH 8834 E)
9,923 x 1 =21 A2+ 123 2,518
Jl=3H| 31,358 56,089 N24,731
Jl=23H] 31,358 36,158 24,800
201 er23| 27,158 32,558 25,400
01 At2teltl 27,158 32,558 A5,400
oS AP &8, 8l 330, 0002 «2CH* 187K 11,880
o LEIHE 250,000 *6H 1,500
oS ALEX 25,0003 x102t A% 123 3,000
o= A==l 500,000 ~2CH 1,000
o gl =2l 300,000 5CH 1,500
od)| A= 43,4003 #2CH+ 123 1,042
oZJ|EEI| SRz 35,0002~ 128 420
o x2E = 5,000& 65 +6E 150
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SA =Y
ma: EeHAY|(J1H)
s Jl=dhl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
odt SZEH 2 7,500 65+ 122 450
SJIEH ARES 17,0008 x105+12& 2,040
oM ZEND 27 |
8,0003 188 20! 4,176
203 gF=4| 4,200 3,600 600
M FA2HLRFAI 4,200 3,600 600
=25¢1 0lat 350,000 122 4,200
(Gla1la]] 5,020,000 4,792,500 227,500
s 100,000
s 4,920,000
Gl 5,020,000 4,792,500 227,500
< 100,000
Ea 4,920,000
OiIHIH] 5,020,000 4,792,500 227,500
S 100,000
= 4,920,000
801 OfleIH 5,020,000 4,792,500 227,500
= 100,000
[Ea 4,920,000
01 etolblbl 3,500,000 3,500,000 0
og ool 3,500,000,000& 3,500,000
02 ol - H=H 0Bl 1,420,000 1,292,500 127,500
oMo - M=H0is]
1,420,000,000& 1,420,000
B LFERES 100,000 0 100,000
cUFFRE= 100,000,000 100,000
= 100,000
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